
Page 1 of 16 

 

KENDRIYA VIDYALAYA SANGATHAN, RANCHI REGION 

Pre-Board Examination (SESSION 2024-25) 

 

       Class: XII                                                                          GEOGRAPHY (029) 
Time allowed: 3 Hours                                                                          Maximum marks: 70 

 ------------------------------------------------------------------------------------------------------------------------ 

 

General Instructions:  

Read the following instructions carefully and follow them: 

(i) This questions paper contains 30 questions. All questions are compulsory. 

(ii) Question paper is divided into five sections A, B, C, D and E. 

(iii) Section A Questions no. 1 to 17 are Multiple Choice type questions.   Each question carries1 mark. 

(iv) Section B Questions no. 18 and 19 are Source-based questions.  Each question carries 3marks. 

(v) Section C Questions no. 20 to 23 are Short Answer type questions. Each question carries 3 marks.  

       Answer to these questions shall be written in 80 to 100 words. 

(vi) Section D Questions no. 24 to 28 are Long Answer type questions. Each question carries 5 marks.    

     Answer to these questions shall be written in 120 to 150 words. 

(vii) Section E Questions no. 29 and 30 are Map-based questions. Each question carries 5 marks. 

(viii) There is no overall choice given in the question paper. However, an internal choice has been       

provided in a few questions in all sections other than Section A. 

 

Q.N SECTION-A M 

Q1. Which one of the following is the only country in the world to officially proclaim the Gross 

National Happiness (GNH) as the measure of the country’s progress? 

A.  Myanmar           B. Bhutan            C. Nepal                D. Sri Lanka 

निम्िलिखित में से कौि सा दनुिया का एकमात्र देश है जिसिे आधिकारिक तौि पि 

सकि िाष्ट्रीय प्रसन्िता  (GNH) को देश की प्रगनत के माप के रूप में घोषित ककया है? 

A. म्याांमाि                     B. भटूाि                     C. िेपाि                 D. श्रीिांका 

1 

Q2 The value of Human development Index lies between ______ and ____     .    

  

A. 0 to 1  B. -1 to 1  C. 0 to 100  D. 0 to 1000. 

मािव षवकास सूचकाांक (HDI) का माि ______ औि ____ के बीच  िहता  है।    

A. 0 to 1  B. -1 to 1  C. 0 to 100  D. 0 to 1000. 

1 

Q3 Which of the following statements are correct related to Retail Trading?  

Choose the correct option. 

 (i)This is the business activity concerned with the sale of goods directly to the consumers.  

(ii)Most of the retail trading takes place in fixed establishments or stores solely devoted to 

selling.  

1 



Page 2 of 16 

 

(iii)Street peddling, handcarts, trucks, door-to-door, mail-order, telephone, automatic vending 

machines and internet are examples of non-store retail trading. 

(iv) It constitutes bulk business through numerous intermediary merchants and supply houses, 

 

Options:  

A. i, ii, iv                                           B. i, iii, iv  

C. ii, iii, iv                                         D. i, ii, iii 

फुटकि  व्यापाि से सांबांधित निम्िलिखित में से कौि सा कथि सही है?  

सही षवकल्प चिुें. 
(i) यह उपभोक्ताओां को सीिे माि की बबक्री से सांबांधित व्यावसानयक गनतषवधि है।  
(ii) अधिकाांश फुटकि  व्यापाि निजचचत प्रनतष्ट्ठािों या दकुािों में होता है िो पिूी तिह से 

बबक्री के लिए समषपित हैं।  
(iii) स्ट्रीट पडेलिांग, ठेिे, रक, डोि-टू-डोि, मेि-ऑडिि, टेिीफोि, स्ट्वचालित वेंडड ांग मशीि 

औि इांटििेट भांडाि िहहत   फुटकि  व्यापाि के उदाहिण हैं। 
(iv) यह कई मध्यस्ट्थ व्यापारियों औि आपनूति घिों के माध्यम से  व्यापाि का गठि 

किता है 

Options:  

A. i, ii, iv                                                  B. i, iii, iv  

C. ii, iii, iv                                                D. i, ii, iii 

Q4 Singapore, Rotterdam and Copenhagen ports are classified as ------------- 
A. Ports of Call                                    B. Naval Ports 

C. Oil Ports                                          D. Entrepot ports 

लसांगापिु, िॉटिडम  औि कोपेिहेगि पत्तिों  को ----------- के रूप में वगीकृत ककया गया 
है। 
A. मागि पत्ति (षवश्राम पत्ति )                   B. िौ सेिा पत्ति  

C.तैि  पत्ति                                          D. आांत्रपो पत्ति  

1 

Q5 Identify the statement that is NOT true with regard to World Trade Organisation? 

I. WTO Headquarters are located in Geneva, Switzerland. 

II.164 countries were members of WTO as on December2016. 

III. India has been one of the founder member of WTO 

IV. WTO was formed in 1948. 

Options:  

A. Statement I and IV                                            B. Only II  

1 



Page 3 of 16 

 

C. Only III                                                              D. Statement IV 

उस कथि को पहचािें िो षवचव व्यापाि सांगठि के सांबांि में सत्य नह ीं है? 

I. WTO का मखु्यािय जििेवा, जस्ट्वट्िििैंड में जस्ट्थत है। 
II.हदसांबि 2016 तक 164 देश WTO के सदस्ट्य थे। 
III. भाित WTO के सांस्ट्थापक सदस्ट्यों में से एक िहा है 

IV. WTO का गठि 1948 में हुआ था. 
षवकल्प: 

A. कथि I औि IV                                               B. केवि II  

C.केवि III                                                        D. कथि IV 

Q6 Which one of the following phases during last century in India was generally referred to as the 

period of steady population?  

 A. Phase I                               B. Phase II 

 C. Phase III                             D. Phase IV 

भाित में षपछिी शताब्दी के दौिाि निम्िलिखित में से ककस चिण को आम तौि पि 
जस्ट्थि ििसांख्या की अवधि के रूप में िािा िाता था?  

 A. चिण I                                    B. चिण II 

 C. चिण III                                  D. चिण IV 

1 

Q7 Which one of the following is incorrectly matched? 

 

List I (Name of the state) List II ( Density of Population) 

A. Kerala 859 

B. Tamilnadu 555 

C. Bihar 1102 

D. West Bengal 999 

 

निम्िलिखित में से कौि सा गलत समेुलित है? 

सचूी I (िाज्य का िाम)       सचूी II (ििसांख्या का घित्व) 

A.केिि 859 

B.तलमििाडु 555 

C.बबहाि 1102 

D. पजचचम बांगाि 999 
 

1 

Q8 Which one of the following set of crops is correct under dryland farming? 

A. Ragi, Bajra, Rice                                       B. Bajra, Rice, Jute 

1 
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C. Rice, Ragi, Sugarcane                               D. Ragi, Bajra, Moong 

 

शषु्ट्क भलूम िेती के अांतगित फसिों का निम्िलिखित में से कौि सा समहू सही है? 

A. िागी, बाििा, चावि                                B. बाििा, चावि, िटू 

C. चावि, िागी, गन्िा                                   D. िागी, बाििा, मूांग 

Q9 There are two statements marked as Assertion (A) and Reason(R). Mark your answer as per the 

codes provided below. 

Assertion (A): The area under Wastelands and culturable wastelands have witnessed a decline 

in India.  

Reason (R): The increasing pressure on land from both the agricultural and non-agricultural 

sectors has contributed to this decline. 

 

Options:  

 A. Both (A) and (R) are true but R is not the correct explanation of (A). 

 B. Both (A) and (R) are true and (R) is the correct explanation of (A). 

 C. Both (A) and (R) are incorrect.  

 D. (A) is correct but (R) is incorrect. 

दो कथि अलभकथि (A) औि कािण (R) के रूप में हदए गए  हैं। दोिों कथिों को 
ध्यािपवूिक पहिए औि  सही षवकल्प का चयि कीजिए : 

अभिकथन (A): भाित में बांिि भलूम औि कृषि योग्य बांिि भलूम के के्षत्र में धगिावट देिी 
गई है।  
कारण (R): कृषि औि गैि-कृषि दोिों के्षत्रों से भलूम पि बढ़ते दबाव िे इस धगिावट में 
योगदाि हदया है। 
षवकल्प:  

 A. (A) औि (R) दोिों सत्य हैं िेककि R, (A) की सही व्याख्या िहीां है। 
 B. (A) औि (R) दोिों सत्य हैं औि (R) (A) का सही स्ट्पष्ट्टीकिण है। 
 C. (A) औि (R) दोिों गित हैं।  
 D. (A) सही है िेककि (R) गित है। 

1 

Q10 Consider the following statements and choose the correct answer with the help of given 

options. 

 

Statement I: The green revolution strategy of agriculture development in the country has 

largely been successful in Punjab, Haryana and western Uttar Pradesh. 

1 
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Statement II: In Punjab, Haryana and western Uttar Pradesh, more than 85 per cent of their net 

sown area is under irrigation. 

Options: 

A. Only statement I is correct 

B. Only statement II is correct 

C. Both the statements are correct, and statement II correctly explains statement I 

D. Both the statements are true but not related with each other 

 निम्िलिखित कथिों पि षवचाि किें औि हदए गए षवकल्पों की सहायता से सही उत्ति 

चिुें।  
कथन I: देश में कृषि षवकास की हरित क्राांनत िणिीनत पांिाब, हरियाणा औि पजचचमी 
उत्ति प्रदेश में काफी हद तक सफि िही है। 
कथन II: पांिाब, हरियाणा औि पजचचमी उत्ति प्रदेश में, उिके शदु्ि बोए गए के्षत्र का 85 

प्रनतशत से अधिक लसांचाई के अांतगित है। 
षवकल्प: 

A. केवि कथि I सही है 

B. केवि कथि II सही है 

C. दोिों कथि सही हैं, औि कथि II कथि I की सही व्याख्या किता है 

D. दोिों कथि सत्य हैं िेककि एक दसूिे से सांबांधित िहीां हैं 
Q11 Which one of the following programme is sponsored by the Central government which aims at 

enabling rural population to conserve water for drinking, irrigation, fisheries and afforestation? 

A. Neeru-Meeru                      B. Haryali 

C. Arvary Pani Sansad                 D. None of the above 

 निम्िलिखित में से कौि सा कायिक्रम कें द्र सिकाि द्वािा प्रायोजित है जिसका उद्देचय 

ग्रामीण आबादी को पीि,े लसांचाई, मत्स्ट्य पािि औि विीकिण के लिए पािी के सांिक्षण 

में सक्षम बिािा है? 

A.िीरू-मीरू                                               B.हरियािी 
C. अिविी पािी सांसद                                   D. उपिोक्त में से कोई िहीां 
 

1 

Q12 Match the column I with Column II and choose the correct options with the help of given 

Codes.   

              

COLUMN I (Nuclear power projects)                                                         COLUMN II(State) 

I. Tarapur                                         1. Rajasthan. 

II. Rawatbhata.                                 2. Maharashtra  

III. Narora                                        3. Tamil Nadu 

1 
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IV. Kalpakkam                                 4. Uttar Pradesh 

 

CODES:- 

                I          II               III                IV 

  (A)        2          3                4                 1 

  (B)        2          1                4                 3             

  (C)        1          2                3                 4 

  (D)        1          4                3                 2 

 

कॉिम I को कॉिम II से लमिाएां औि हदए गए कोड की मदद से सही षवकल्प चिुें। 
कॉलम I (परमाणु ऊर्ाा पररयोर्नाएीं) कॉलम II (राज्य) 

I. तािापिु 1. िािस्ट्थाि. 

II. िावतभाटा.                                 2.महािाष्ट्र 

III. ििोिा 3. तलमििाडु 

IV. किपक्कम 4. उत्ति प्रदेश 

  

CODES:- 

                I          II               III                IV 

  (A)        2          3                4                 1 

  (B)        2          1                4                 3             

  (C)        1          2                3                 4 

  (D)        1          4                3                 2 

Q13 Which one of the following tunnel, the world’s longest Highway tunnel, connects Manali to 

Lahaul-Spiti valley throughout the year? 

 

A. Himalayan Tunnel                                   B. Atal Tunnel 

C. Pir Panjal Tunnel                                      D. Mahatma Gandhi Tunnel 

 

निम्िलिखित में से कौि सी सिुांग, दनुिया की सबसे िांबी िािमागि सिुांग, मिािी को पिेू 

विि िाहौि-स्ट्पीनत घाटी से िोड़ती है? 

A. हहमाियी सिुांग                                          B. अटि टिि 

C.पीि पांिाि सिुांग                                        D. महात्मा गाांिी सिुांग 

1 

Q14 Which one of the following is incorrectly matched? 

 

List I(Waterway) List II (Stretch) 

A. NW1 1. Allahabad- Haldia 

B. NW2 2. Sadiya – Dhubri 

C. NW3 3. Kottapuram – Kollam 

D. NW4 4. Kolkata - Patna 

 

निम्िलिखित में से कौि सा गलत समेुलित है? 

1 
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सचूी I (ििमागि) सचूी II (खिांचाव) 

A. NW1 1. इिाहाबाद-हजल्दया 
B. NW2 2. साहदया-िबुिी 
C. NW3 3. कोट्टापिुम - कोल्िम 

D. NW4 4. कोिकाता-पटिा 
 

  

 Study the following diagram carefully and answer Q. No. 15 to 17 

निम्िलिखित धचत्र का ध्यािपवूिक अध्ययि किें औि प्रचि सांख्या 15 से 17 तक 
का उत्ति दें. 

 
 

 

Q15 
Which stage of the demographic transition model has the highest birth rate and the 

highest death rate? 

ििाांकककीय सांक्रमण लसद्िाांत  के ककस चिण में िन्म दि उच्चतम औि मतृ्य ुदि 

उच्चतम है? 

(A) Stage I  

(B) Stage II  

(C) Stage III  

1 
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(D) Stage IV 

Q16 Which stage of the demographic transition model can be termed as stage of population 

explosion? 

ििाांकककीय सांक्रमण लसद्िाांत  के ककस चिण को ििसांख्या षवस्ट्फोट का चिण कहा िा 
सकता है? 

(A) Stage I  

(B) Stage II  

(C) Stage III  

(D) Stage IV 

1 

Q17  

From the given graph, what condition can you infer about the developed countries? 

A. High Birth Rate and High Death Rate 

B. Low Birth rate and Low Death rate 

C. High Birth Rate and Low Death Rate 

D. Low Birth Rate and High Death Rate 

हदए गए ग्राफ़ से आप षवकलसत देशों के बािे में ककस  जस्ट्थनत का अिमुाि िगा सकते हैं? 

A. उच्च िन्म दि औि उच्च मतृ्य ुदि 
B. निम्ि िन्म दि औि निम्ि मतृ्य ुदि 
C. उच्च िन्म दि औि निम्ि मतृ्य ुदि 
D. निम्ि िन्म दि औि उच्च मतृ्य ुदि 

1 

 SECTION-B  

 Question 18 & 19 are Source based questions.  

Q18 Read the given Passage carefully and answer the questions that follow: 

 

Tertiary activities include both production and exchange. The production involves the 

‘provision’ of services that are ‘consumed’. The output is indirectly measured in terms of wages 

and salaries. Exchange, involves trade, transport and communication facilities that are used to 

overcome distance. Tertiary activities, therefore, involve the commercial output of services 

rather than the production of tangible goods. They are not directly involved in the processing of 

physical raw materials. Common examples are the work of a plumber, electrician, technician, 

launderer, barber, shopkeeper, driver, cashier, teacher, doctor, lawyer and publisher etc. The 

main difference between secondary activities and tertiary activities is that the expertise provided 

by services relies more heavily on specialised skills, experience and knowledge of the workers 

rather than on the production techniques, machinery and factory processes 

 

(i) What is the main difference between secondary and tertiary activities? 

 (ii)How is the output of tertiary activities measured? 

 (iii) Name two common examples of tertiary activities. 

 

1+

1+

1 
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दिए गए अनचु्छेि  को ध्यानपरू्ाक पदिए  और उसके  नीच ेदिए गए  प्रश्नों के उत्तर 

भलखिए  

 

ततृीयक कक्रयाकिापों  में उत्पादि औि षवनिमय दोिों शालमि हैं। उत्पादि में उि 

सेवाओां का 'उपिब्िता ' शालमि होता है जििका 'उपभोग' ककया िाता है। उत्पादि को 
पिोक्ष  रूप से पारिश्रलमक  औि वेति के रूप में मापा िाता है। षवनिमय में व्यापाि, 
परिवहि औि सांचाि सषुविाएां शालमि हैं जििका उपयोग दिूी को दिू कििे के लिए ककया 
िाता है। इसलिए, ततृीयक गनतषवधियों में मतूि वस्ट्तओुां के उत्पादि के बिाय सेवाओां का 
वाखणजज्यक उत्पादि शालमि होता है। वे भौनतक कच्च ेमाि के प्रक्रमण  में सीिे तौि पि 

शालमि िहीां हैं। एक प्िांबि, इिेक्रीलशयि, तकिीलशयि, िोबी , िाई, दकुािदाि, ड्राइवि, 
कैलशयि, लशक्षक, डॉक्टि, वकीि औि प्रकाशक आहद का काम इिका  सामान्य उदाहिण 

हैं। द्षवतीयक  कक्रयाकिापों औि ततृीयक कक्रयाकिापों के बीच मखु्य अांति यह है कक 

सेवाओां द्वािा उपिब्ित षवशिेज्ञता उत्पादि तकिीकों, मशीििी औि फैक्री प्रकक्रयाओां 
की अपेक्षा  श्रलमकों के षवशिे कौशि, अिभुव औि ज्ञाि पि अधिक निभिि किती है। 
 

(i) माध्यलमक औि ततृीयक कक्रयाकिापों के बीच मखु्य अांति क्या है? 

(ii)ततृीयक कक्रयाकिापों का उत्पादि कैसे मापा िाता है? 

(iii) ततृीयक कक्रयाकिापों के दो  सामान्य उदाहिण बताइए। 

Q19   

 

Study the following table and answer the questions: 

ननम्नभलखित ताभलका का अध्ययन करें और प्रश्नों के उत्तर िें: 

1+

1+

1 
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(i) How many countries are there in the high to very high level of Human development? 

(ii) In which sector countries with higher human development has a lot of investment?  

(iii)What is India’s rank in Human Development Index as per HDI report 2020? 

(i) मािव षवकास के उच्च से अनत उच्च स्ट्ति पि ककति ेदेश हैं? 

(ii) उच्च मािव षवकास वाि ेदेशों का ककस के्षत्र में बहुत अधिक निवेश है?  

(iii) HDI रिपोटि 2020 के अिसुाि मािव षवकास सचूकाांक में भाित का स्ट्थाि क्या है? 

 SECTION-C  

Q20 Examine the main aspects of environmental determinism  

पर्यावरण निर्निवयद के मखु्र् पहलओंु की जयंच करें 
 

3 

Q21 Study the map of Panama Canal and answer the following questions: 

पिामा िहि के मािधचत्र का अध्ययि किें औि निम्िलिखित प्रचिों के उत्ति दें: 
3 
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(i) Which two oceans are connected by the Panama Canal? 

(ii) Name the two ports connected by the Panama Canal. 

(iii) Which country has the ownership and management of Panama Canal? 

 

(i) पिामा िहि द्वािा कौि से दो महासागि िुड़ ेहुए हैं? 

(ii) पिामा िहि से िुड़ ेदो बांदिगाहों के िाम बताइए। 
(iii) पिामा िहि का स्ट्वालमत्व एवां प्रबांिि ककस देश के पास है? 

Q22 Differentiate between Rural settlements and Urban Settlements. 

ग्रामीण बजस्ट्तयों औि शहिी बजस्ट्तयों के बीच अांति बताएां। 
3 

Q23 What are the key objectives of the “Beti Bachao - Beti Padhao” campaign? 

OR 

3 
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Write the salient features of “National Youth Policy-2014”. 

"बेट  बचाओ-बेट  पढाओ" अलभयाि के प्रमिु उद्देचय क्या हैं? 

अथवा  

"राष्ट्र य यरु्ा नीनत-2014" की प्रमिु षवशिेताएँ लिखिए। 

 SECTION-D  

Q24 Describe any five salient features of “Mixed Farming” practised in the world. 

Or 

Discuss the important characteristic features of “Commercial Livestock Rearing” practised in 

the world. 

षवचव में प्रचलित "लमधश्रत कृषि " की ककन्हीां पाँच प्रमिु षवशिेताओां का वणिि किें। 
अथर्ा  
षवचव में प्रचलित "वाखणज्य पशिुि पािि" की महत्वपणूि षवशिेताओां पि चचाि किें। 

5 

Q25 Differentiate between “Household or Cottage Manufacturing and Small Scale 
Manufacturing”. 

Or 

Identify and explain the factors affecting the location of an industry. 

"घिेि ूया कुटीि उद्योग  औि छोटे पमैाि ेके उद्योग " के बीच अांति बताएां । 
अथर्ा  

ककसी उद्योग की जस्ट्थनत को प्रभाषवत किि ेवािे कािकों को पहचािें औि व्याख्या किें । 

5 

Q26 Evaluate the aims and social benefits of ITDP in the Bharmaur tribal region. 

Or 

Write a brief account on Indira Gandhi Canal and its impact in agricultural economy in the 

region. 

 

भिमौि िििातीय के्षत्र में आईटीडीपी(ITDP) के उद्देचयों औि सामाजिक िाभों का 
मलू्याांकि किें। 
अथवा  
इांहदिा गाांिी िहि के बािे में एवां  के्षत्र में कृषि अथिव्यवस्ट्था पि इसके प्रभाव पि एक 

सांक्षक्षप्त षवविण लििें। 

5 
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Q27 “The composition of commodities in India’s international trade has been undergoing a change 

over the years.” Analyse the statement. 

Or 

Evaluate the role of Seaports as gateway of International trade.   

"भाित के अांतिािष्ट्रीय व्यापाि में वस्ट्तुओां के सांघटकों में समय के साथ बदिाव आए हैं "। 

कथि का षवचिेिण किें . 

अथर्ा  

अांतिािष्ट्रीय व्यापाि के प्रवेश द्वाि  के रूप में समदु्री पत्तिों  (बांदिगाहों) की भलूमका का 

मलू्याांकि किें। 

5 

Q28 “Indiscriminate use of water by increasing population and industrial expansion has led 

degradation of the quality of water considerably”. Analyse the statement. 

Or 

Write the main objectives of “Namami Gange Programme” launched by the Union government. 

 

“बढ़ती हुई ििसांख्या औि औद्योधगक षवस्ट्तािण के कािण िि के अषववेकपणूि उपयोग 

से िि की गणुवत्ता का बहुत अधिक निम्िीकिण हुआ  है।” इस कथि का षवचिेिण किें . 

अथर्ा  

कें द्र सिकाि द्वािा शरुू ककए गए "िमालम गांगे कायिक्रम" के मखु्य उद्िेचयों को  लिखिए। 

5 

 SECTION-E  

 

Q29 

On the given political map of the World, seven geographical features have been marked as 

A, B, C, D, E, F and G. Identify any five with the help of the following information and 

write their correct names on the lines drawn near each feature. 

A. A major seaport. 

B. An international airport. 

C. An important Inland waterway 

D. An area of subsistence gathering in North America. 

E. A terminal station of Trans- Australian railway. 

F. An area of Nomadic Herding 

G. Region of extensive commercial grain Farming. 

 

5 
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षवचव के हदए गए िाििीनतक मािधचत्र पि निम्िलिखित छ: षवशिेताएां A, B, C, D, E 

औि  F के माध्यम से दशािई गई हैं। इिमें से ककन्हीां पाँच िक्षणों को पहचानिए तथा 
प्रत्येक षवशिेता के निकट अांककत िेिा पि उिके सही िाम लिखिए। 

A. एक प्रमिु बांदिगाह। 
B. एक अांतििाष्ट्रीय हवाई अड्डा। 
C. एक महत्वपणूि अांतदेशीय ििमागि 
D. उत्तिी अमेरिका में निवािह सांग्रहण का एक के्षत्र। 
E. राांस-ऑस्ट्रेलियाई िेिवे का एक टलमििि स्ट्टेशि। 
F. िािाबदोश पशपुािि का एक के्षत्र 

G. व्यापक व्यावसानयक अिाि िेती का के्षत्र। 

 
 

Q30  

Locate and label any five of the following geographical features on the Political Outline 

map of India with appropriate symbols: 

 

A. An important seaport in Goa. 

5 
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B. An important copper mine in Rajasthan. 

C. Koraput - Bauxite mines. 

D. An oil refinery in Bihar. 

E. The state with Lowest population density. 

F. The state leading in the production of Tea. 

G. An international airport in Maharashtra. 

भाित के हदए गए िाििीनतक मािधचत्र पि, निम्िलिखित में से ककन्हीां पाांच को उपयकु्त 

धचह्िों के साथ दशािइए औि उिके िाम लिखिए : 

A. गोवा में एक महत्वपणूि बांदिगाह। 
B. िािस्ट्थाि की एक महत्वपणूि ताांब ेकी िाि। 
C. कोिापटु - बॉक्साइट िदािें। 
D. बबहाि में एक तेि रिफाइििी। 
E. न्यिूतम ििसांख्या घित्व वािा िाज्य। 
F. चाय के उत्पादि में अग्रणी िाज्य. 

G. महािाष्ट्र में एक अांतििाष्ट्रीय हवाई अड्डा. 



Page 16 of 16 

 

 
 

 


